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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

2000 -

1750 ~

1500 ~

1250 ~

1000 ~

750 -

500 -

0 50 100 150 200 250



Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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BYiE) | GEBERTIC (B)) | EBME (EAH/#K) | XS EFRE

07:15 170 20.0 i ’Ri%@07:15 (KPAIERSE)
08:00 170 20.0 i ;R1%@08:00 (KRFIERLES)
08:45 170 20.0 i {’Ri1&@08:45 (kAfEREE)
09:40 170 20.0 i B21%@09:40 (FFAIEREIE)
10:35 170 20.0 i BRi%@10:35 (KRFERZE)
11:30 170 20.0 i Ri&e11:30 (KRAHERE)
12:25 170 20.0 i BRi%@12:25 (FKAERSE)
13:10 170 20.0 i BRi&@13:10 (KRPBERE)
13:55 170 20.0 i BRi&@13:55 (RREERSE)
14:50 170 20.0 i ’Ri&@14:50 (kPB{EREE)
15:55 170 20.0 i B3i%015:55 (REERZE)
23t 1870.0 (113%) 220.0 32 FH%KEC: 1600.0, PH: 6.9

ERGEBRIELL RN (0.29 vs 0.32), AIEEEZ BEESEEEESKESRR
LOREBRTC R IRMERIEIY (170.0 vs 77.0))

ZRIASERRIERE44. 0 ml.

HEEKECE (1499.0 vs 3825.0) 15
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